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Answer all questions.

EMATICAL TABLES NOR SLIDE RULES
MAY BE USED IN THIS PAPER.

NEITHER MATH
NOR CALCULATORS

i Express

(@) 4,695 to 2 decimal places,

Answer (a)
..................................... i

(b) 7943 to 1 significant figure,

Answer (b)

ST
(c) 0, 002 31 in standard form.
Answer (c)
iy
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b] ) Write down the number 7 X 8 3+ 8+6 as a number in base 8.

Answer (a)
- (1
{b) Convert 574 to a number in base 6.
Answer (b)
T
(c) Evaluate 111; + 1, giving the answer in base 2.
Answer (¢)
[y
1004 1 N2023
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4
3 () Express 0217 as time in 12 hour notation.

Answer (a)
............................ (i
(b) For a general parallelogram, state the
) number of lines of symmetry,
Answer (b)(1)
[.].] ........
(ii) order of rotational symmetry.
Answer (b)(ii)
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4 Given that f (z) =3z -1,
find

@  f(=2)

Answer (a)
............................ i
®) Tiff(z)=5-
Answer (b)
esesessonsenssssesmanrones ST RS i
5 (a) Simplify(_sm )4,

Answer (a)

Y
4004/1 N2023
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(b) Evaluate

O 403,
Answer (b)(i)
o =
(i) -3
Answer (b)(ii)
| [
6 Solve the simultaneous equations :
3+ 2y =8
Sx+3y=4,5
Answer

4004/1 N2023

T Q) zmse



—

Candidate Name

Centre Number Candidate Number
7 i
7 T~
.
20
| 2N
C

In the diagram, AT and BT are tangents to the circle, centre O. C is a
point on the circumference of the circle. ATB = 74°.

Calculate
@  AOT-
Answer (a)
(b) BAT-
Answer (b) )

4004/1 N2023
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In the diagram, each of the small semi-circles have a diameter of 5 cm.
The bigger semi-circle has a diameter if 10cm.

Calculate the perimeter of the shaded part in terms of 7 .

Answer

4004/1 N2023
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(c) median.

Answer (c)
[1] ............
10 A map is drawn to a scale of lem to 10km.
(a) Express the scale in the form 1 : n .
Answer (a)
................................................... T
(b) Find the
(@) actual distance represented by 2,7 cm on the map,

Answer (b)(i)

[I] ............

4004/1 N2023
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i a:eaonthempdaatreptesentsanactualareaoﬂmkmz.

Answer (b)(i1)

A B and C are points on level ground such that the bearing of A from C is 205°,
and the bearing of B from C is 347°.

11

(a) Calculate AC—'B

Answer (a)

(b) Find the beanng of C from B.

Answer (b)

4004/1 N2023
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A= T 4 a prime sumbar |
B - 7L g an odd sumbar |
C -1 Laammitiplanf ¢
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() Find n(ANC)

Answer (¢)

13

A

In the diagram, ABC , ACD and ABD are triangles such that
BC = 8cm, AC = 10cm, CD =9cmand gBC = 90°-

Calculate

(a) Cos AC’ ) . giving the answer as 2 decimal

Answer (a)

s | N202D -
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14

) the area of triangle ACD

»

Answer(b) PR R TR

14 Given the formula | \/b* :

c

() findCifa = —4andbh = 21,

Answer (a)

2]

(b) make @ the subject of the formuyla.

Answer (b)

4004/1 N2023
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1S Solve the following eqﬁaﬁons:
@ Gm-3)2m+1)=0
&
Answer (a)
........................................ i
“(b) 2 = 3
n — 1 n+4+ 2
Answer (b)
................................................... G
4004/1 N2023
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16
16 Giventhat matrix A=/ 9 1\ and matrix B= /2. find
-3 0 5
() AB
Answer (a)
............................................ i5i
(b) A~1 the inverse of matrix A.
Answer (b)
.............. [ 3]
17 Given that (3 p=/4\, where O is the origin and Q is the point (1 ; 5 ),
1
(a) find op| Leave the answer in surd form.
Answer (a)
i

4004/ N2023
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(b)  Given also that Q—'R = (_.2) , find

(i) the coordinates of R,

Answer (b)(i)
........................................... { 2] .
i) PR
Answer (b)(ii)
........................................... [ 1]
40041 N2023
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In the diagram the unshaded region R is defined by three inequalities. Find the three
inequalities.

Answers;

...............................
..........................
.......................................................
...............................................................

......................
............................
.........................................................................
...................................................
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19

20 -

0 3 7 10
Time (8)
The diagram shows the speed - time graph of a moving object during a period of 10
- seconds.

Calculate the

(a) acceleration of the object fromt=3tot=7,
Answer (a)
(n
4004/1 N2023
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20
(®) distance covered by the object at constant speed _
Answer (b)
(1]
(c) average speed for the 10 seconds.
Answer (c)
. (3]
20 Factorise completely

4004/1 N2023
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() Find the total cost of registermg for  subpects.

Answer (b)
12
22 Den is a striker for the under 17 boys soccer team at his school. The probability
that he scores during the first half of a match is 0.6. ‘
If he scores during the first half. the probability of scoring a second goal in the
second half is 0.8. If he does not score during the first half, the probability that
he scores in the second half is 0.5.
(@)
First Half Second Half :
: scores
; 0.8 :
scores |
0,6 : :
: does i
: not }
i score i
does § 0.3 SCOTCS ‘E
not { i
score E E
does
: not i
: score 3
Complete the tree diagram by inserting the probabilities not given.
Answer () on the diagram
(3]

400471 N2023
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23
(b) Use the tree diagram to find the probability that he scores,

@) in both halves,

Answer (b)(1)

(ii)  only once.

Answer (b)(ii)

23 Giventhatlog 8 = 0,9031.

Evaluate

(@) log 0.8,

Answer (a)

40041 N2023
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») log 512

Answer (b)

. n[.z_i....... -
{c)

&
W

Answer (c)

e

24 (a) Evaluate giving each answer as a common fraction in its simplest form,

m 3 2.
7

1

Answer (a)(i) )
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ay 21,4
4

Answer (a)ii)
(2)
(b) Express 0, 135 as a commaon fraction in its simplest form.,
Answer (b)
(2]
YA\ KDY
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